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QUANTITATIVE APTITUDE
Q.1 If sin Y = x, then what will be

the value of cos 2Y (where 0 

Y  90°)?/;fn sin Y = x, rks cos

2Y (tgk¡ 0  Y  90°) dk eku D;k
gksxk\

(1)  2 1 x (2) 2x

(3) 1 - 2x (4) 1 - 2x2

Q.2 What is the value of (a + b)2 -

(a - b)2?/(a + b)2 - (a - b)2 dk
eku D;k gS\
(1) 2(a2 + b2) (2) 4(a2 + b2)
(3) 8ab (4) 4ab

Q.3 The table given below shows
the number of monuments in

5 different cities./uhps nh xbZ
rkfydk 5 vyx&vyx 'kgjksa esa Lekjdksa
dh la[;k n'kkZrh gSA
Cities

A
B
C
D
E

40
30
120
150
50

What is the ratio of number
of monuments in B to the
number of monuments in D?/

B esa Lekjdksa dh la[;k dk D esa
Lekjdksa dh la[;k ls vuqikr D;k gS\
(1) 3 : 1 (2) 1 : 4
(3) 5 : 1 (4) 1 : 5

Q.4 The following table shows the
production of different types
of two wheelers from 1993 to

1998./fuEu rkfydk 1993 ls 1998
rd fofHkUu çdkj ds nqifg;k okguksa ds
mRiknu dks n'kkZrh gSA
Number of two wheelers (in
1000s)

nqifg;k okguksa dh la[;k (gtkjksa esa)

   

YearsType

A
B
C
D
E

F
Total

1993

36

20
14
60
40

45
215

1994

34
22
22
62

45
52
237

1995

40
25
16

67.5

48
55

251.5

1996

35
23
25
75

50
60
268

1997

37.5
19.5
29
76

80
57.5
199.5

1998

40
18
35
80

105
56
334

What is the percentage increase
in the total production  of all
types of two wheelers in 1998
in comparison to 1996 (rounded

off to the nearest integer)?/1996
dh rqyuk esa 1998 esa lHkh çdkj ds
nqifg;k okguksa ds dqy mRiknu esa fdrus
çfr'kr dh òf¼ gqbZ gS (fudVre iw.kkZad
rd)\
(1) 27% (2) 25%
(3) 24% (4) 26%

Q.5 Three circles of radius 7 cm
are kept touching each other.
The string is tightly tied
around these three circles.
What is the length of the

string?/7 lseh f=kT;k okys rhu o`Ùk
,d nwljs dks Li'kZ djrs gq, j•s x, gSaA
bu rhuksa o`Ùkksa ds pkjksa vksj Mksjh dldj
c¡/h gqbZ gSA Mksjh dh yackbZ fdruh gS\
(1) 42 + 7p cm
(2) 21p + 14 cm
(3) 42 + 14p cm
(4) 7 + 14p cm

Q.6 A dealer marks his goods at
15% above the cost price and
allows a discount of 5% for
cash payment. His profit

percentage is:/,d O;kikjh vius
eky ij ykxr ewY; ls 15% vf/d
vafdr djrk gS vkSj udn Hkqxrku ij
5% dh NwV nsrk gSA mldk ykHk çfr'kr
gS%
(1) 9.25% (2) 7.25%
(3) 11.25% (4) 10.25%

Q.7 What is the area of the curved
surface of a right circular
cone with height 8 m and

slant height 10 m?/8 ehVj ÅapkbZ
vkSj 10 ehVj frjNh ÅapkbZ okys ,d
yEc o`Ùkh; 'kadq dh ?kqekonkj lrg dk
{ks=kiQy D;k gS\
(1) 60m2/eh2 (2) 60 m2/eh2

(3) 40 m2/eh2 (4) 40 m2/eh2
Q.8 The given table shows the

production of units of different
products in different months:/
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nh xbZ rkfydk fofHkUu eghuksa esa fofHkUu
mRiknksa dh bdkb;ksa ds mRiknu dks n'kkZrh gS%

Product
Z
Y
X
W

March
15
18
14
12

June
18
13
17
14

Sept.
12
17
19
11

Dec.
19
8
16
15

Y's total production is what
percentage of Z's total

production?/Y dk dqy mRiknu
Z ds dqy mRiknu dk fdruk çfr'kr gS\
(1) 88.5% (2) 89.5%
(3) 87.5% (4) 114.28%

Q.9 In ABC, P and Q are points on
AB and BC, respectively, such
that PQ||AC. Given that AB =
26, PQ = 7 and AC = 10 find the

value of AP./ABC esa] P vkSj Q

Øe'k% AB vkSj BC ij ,sls fcanq gS fd
PQ||AC fn;k x;k gS fd AB = 26,

PQ = 7 vkSj AC = 10, rks AP dk eku
Kkr dhft,A
(1) 7.1 (2) 7.8
(3) 18.2 (4) 16.4

Q.10 A shopkeeper advertises for
selling cloth at 7% loss.
However, by using a false scale
of length 1 meter he actually
gains 24%. What will be the
actual length he uses instead

of 1 meter ?/,d nqdkunkj 7» gkfu
ij diM+k cspus ds fy, foKkiu nsrk gSA
gkykafd] 1 ehVj yackbZ ds >wBs iSekus
dk mi;ksx djds og okLro esa 24»
ykHk çkIr djrk gSA og 1 ehVj ds
LFkku ij mi;ksx dh tkus okyh okLrfod
yackbZ D;k gksxh\
(1) 75 cm/lsseh (2) 31 cm/lsseh
(3) 76 cm/lsseh (4) 93 cm/lsseh

Q.11 A 100 ml solution of H
2
 SO

4

having concentration of 20%
is mixed with a 50%
concentrated x ml mixture
such that the net mixture is
30% concentrated. Determine

x./20% lkaærk okys H
2
 SO

4
 ds
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100 feyh ?kksy dks 50% lkUærk x

feyh feJ.k esa bl çdkj feyk;k tkrk
gS fd 'kq¼ feJ.k 30% lkUæ gksA x

dk eku Kkr djsaA
(1) 70 ml/feyh (2) 80 ml/feyh
(3) 60 ml/feyh (4) 50 ml/feyh

Q.12 ABCD is a square and MAB
is an equilateral triangle. MC
and MD are joined What is the
degree measure of MDC?/

ABCD ,d oxZ gS vkSj MAB ,d
leckgq f=kHkqt gSA MC vkSj MD 'kkfey
gSa
MDC dk fMxzh eki D;k gS\

A B

CD

M

(1) 78° (2) 60°
(3) 65° (4) 75°

Q.13 Ten men begin to do a work.
But after some days, four of
them left the job. As a result,
the job that could have been
completed in 40 days is
completed in 50 days. How
many days after the
commencement of the work

did the four men leave?/nl
vkneh ,d dke djuk 'kq: djrs gSaA
ysfdu dqN fnu ckn muesa ls pkj us
ukSdjh NksM+ nhA urhtru] tks dke 40
fnuksa esa iwjk fd;k tk ldrk Fkk] og 50
fnuksa esa iwjk gks tkrk gSA dke 'kq: gksus
ds fdrus fnu ckn pkjksa vkneh pys
x,\
(1) 30 (2) 20
(3) 35 (4) 25

Q.14 If A + B = C, then tan A tan B

tan C = ?/;fn A + B = C, rks tan
A tan B tan C = ?
(1) tan C + tan A – tan B
(2) tan C + tan A + tan B
(3) tan A – tan B – tan C
(4) tan C – tan A – tan B

Q.15 If m and n are two positive
real number such that 9m2 +
n2 = 50 and mn = 4, then the

value of 3m + n is:/;fn m vkSj
n nks ldkjkRed okLrfod la[;k,a gSa
tSls fd 9m2 + n2 = 50 vkSj mn =

4, rks 3m + n dk eku gS

(1) 160 (2) 64
(3) 10 (4) 8

Q.16 The factors x2 + 4y2 + 4y - 4xy -

2x - 8 are:/xq.ku•aM x2 + 4y2 + 4y -

4xy - 2x - 8 gSa%
(1) (x - 2y - 4) (x - 2y + 2)
(2) (x2 - 2y - 4) (x2 - 2y + 2)
(3) (x + 2y - 4) (x + 2y + 2)
(4) (x2 - 2y - 4) (x2 + 2y + 2)

Q.17 The HCF of three numbers

105, 335 and 465 will be:/rhu
la[;kvksa 105, 335 vkSj 465 dk
HCF gksxk%
(1) 11 (2) 5
(3) 7 (4) 3

Q.18 A number when divided by 221,
leaves a remainder 30. If the
same number is divided by 13,

the remainder will be:/,d la[;k
dks 221 ls foHkkftr djus ij 'ks"kiQy
30 vkrk gSA ;fn mlh la[;k dks 13 ls
foHkkftr fd;k tk,] rks 'ks"kiQy gksxk%
(1) 4 (2) 3
(3) 2 (4) 1

Q.19 The given table shows the
number of new employees who
joined in different categories
of employees in an
organisation and also the
number of employees from
these categories who left the
organisation every year since
the foundation of the
organisation in 2015. Study
the table and answer the

questions that follow./nh xbZ
rkfydk ,d laxBu esa deZpkfj;ksa dh
fofHkUu Jsf.k;ksa esa 'kkfey gksus okys u,
deZpkfj;ksa dh la[;k vkSj lkFk gh bu
Jsf.k;ksa ds deZpkfj;ksa dh la[;k dks n'kkZrh
gS] ftUgksaus 2015 esa laxBu dh LFkkiuk
ds ckn ls gj lky laxBu NksM+ fn;kA
rkfydk dk vè;;u djsa vkSj lokyksa ds
tokc nsa tks vuqlj.k djrk gSA

Year
2015
2016
2017
2018

2019

Joined
80
63
78
42

67

Left
0
21
28
39

44

Joined
35
26
15
20

14

Left
0
16
5
38

24

Joined
50
46
38
34

22

Left
0
20
15
0

30

Joined
73
34
48
14

21

Left
0
23
29
12

30

Business Analysts Accountants Sales Representative Peons

What was the total number of
accountants working in the
organisation in the year 2019?/

o"kZ 2019 esa laLFkk esa dk;Zjr ys•kdkjksa
dh dqy la[;k fdruh Fkh\
(1) 110 (2) 83
(3) 27 (4) 193

Q.20 In an election between two
candidates, a candidate who
gets 76 % of the total votes polled
is elected by a majority of 1480
votes. What is the total number
of votes polled? (Consider

integral part only)/nks mEehnokjksa
ds chp ,d pquko esa] ,d mEehnokj ftls
dqy Mkys x, erksa dk 76» çkIr gksrk gS]
1480 erksa ds cgqer ls fuokZfpr gksrk gSA
Mkys x, erksa dh dqy la[;k fdruh gS\
(fudVre iw.kkZad rd iw.kkZafdr)
(1) 2800 (2) 1800
(3) 2846 (4) 1846

Q.21 If x = 8(sinq + cosq) and y =
9(sinq - cosq), then the value

of 
2 2

2 28 9

x y
  is:/;fn x = 8(sinq

+ cosq) vkSj y = 9(sinq - cosq),

rks 
2 2

2 28 9

x y
  dk eku gS%

(1) 4 (2) 6
(3) 8 (4) 2

Q.22 AB is the diameter of a circle
with centre 0. If P be a point
on the circle such that AOP
=110°, then the measure of

OBP is:/AB dsaæ 0 okys ,d o`Ùk
dk O;kl gSA ;fn P o`Ùk ij ,d fcanq gks
tSls fd AOP =110°, rks OBP

dk eki gS%
(1) 50° (2) 65°
(3) 60° (4) 55°

Q.23 A is chasing B in the same
interval of time. A jumps 8
times, while B jumps 6 times.
But the distance covered by A
in 7 jumps is the same as that
of B in 5 jumps. The ratio
between the speeds of A and

B is _____./A leku le; varjky
esa B dk ihNk dj jgk gSA A, 8 ckj
dwnrk gS] tcfd B, 6 ckj dwnrk gSA
ysfdu A }kjk 7 Nyk¡xksa esa r; dh xbZ
nwjh B }kjk 5 Nyk¡xksa esa r; dh xbZ nwjh
ds cjkcj gSA A vkSj B dh xfr ds chp
dk vuqikr ____ gSA
(1) 32 : 24 (2) 30 : 56
(3) 20 : 21 (4) 28 : 36

Q.24 In a certain duration of time,
a sum become 2 times itself
at the rate of 5% per annum
simple interest. What will be
the rate of interest if the same
sum becomes 5 times itself in

the same duration?/,d fuf'pr
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vof/ esa ,d jkf'k 5% okf"kZd lkèkkj.k
C;kt dh nj ls Lo;a dh nqxquh gks tkrh
gSA ;fn leku vof/ esa leku jkf'k
Lo;a dh 5 xquh gks tkrh gS] rks C;kt
dh nj D;k gksxh\
(1) 20 Percent (2) 16 Percent
(3) 10 Percent (4) 18 Percent

Q.25 A mixture contains milk and
water in the ratio of 5 : 3,
respectively. On adding 7
litres of water, the ratio of
milk to water becomes 1 : 2.
Find the quantity of milk in

the mixture./,d feJ.k esa nw/ vkSj
ikuh Øe'k% 5 : 3 ds vuqikr esa gSaA 7
yhVj ikuh feykus ij nw/ dk ikuh ls
vuqikr 1 : 2 gks tkrk gSA feJ.k esa nw/
dh ek=kk Kkr dhft,A
(1) 7 litres/yhVj
(2) 10 litres/yhVj
(3) 5 litres/yhVj
(4) 3 litres/yhVj

GENERAL AWARENESS
Q.1 Acid changes the colour of

blue litmus to _____./vEy uhys
fyVel dk jax _____esa cny nsrk gSA
(1) yellow/ihyk
(2) red/yky
(3) pink/xqykch
(4) orange/ukjaxh

Q.2 Which of the following hills
and their region are correctly

matched?/fuEufyf•r esa ls dkSu
lh igkfM+;k¡ vkSj mudk {ks=k lgh lqesfyr
gSa\
(1) Patkai hills/– W e s t e r n

ghats /iVdkbZ igkfM+;k¡ if'peh
?kkV

(2) Mizo hills/ – E a s t e r n

ghats/ fetks igkfM+;k¡ iwohZ ?kkV
(3) Shevaroy hills/ – Western

ghats/'ksojk; igkfM+;k¡
if'peh ?kkV

(4) Javadi hills/ –E a s t e r n

ghats/tkoM+h igkfM+;k¡ iwohZ ?kkV
Q.3 Under the Constitution of

India, the Constitutional Head
of the Executive of the Union

is the ______./Hkkjr ds lafoèkku ds
rgr] la?k dh dk;Zikfydk dk laoSèkkfud
çeq• _____ gSA
(1) Prime Minister/ç/ku ea=kh
(2) President/jk"Vªifr

(3) Supreme Court Chief

justice /lokZsPp U;k;ky; dk eq[;
U;k;k/h'k

(4) Speaker of the Rajya

Sabha/jkT; lHkk ds vè;{k
Q.4 Kathak dancer, Sitara Devi was

awarded which of the following

awards in 1973?/dFkd u`R;kaxuk
flrkjk nsoh dks 1973 esa fuEufyf•r esa
ls fdl iqjLdkj ls lEekfur fd;k x;k
Fkk\
(1) Padma Vibhushan/iÁ

foHkw"k.k
(2) Padma Bhushan/iÁ Hkw"k.k
(3) Sangam Kala/laxe dyk
(4) Padma Shri/iÁ Jh

Q.5 Which Article of the
Constitution of India deals
with the recognition of the
right to education as a

Fundamental Right?/Hkkjr ds
lafo/ku dk dkSu lk vuqPNsn ekSfyd
vf/dkj ds :i esa f'k{kk ds vf/dkj
ls lacaf/r gS\
(1) Article 300 A
(2) Article 20
(3) Article 33
(4) Article 21 A

Q.6 During the period between 1950
and 1990, the proportion of GDP
contributed by agriculture

significantly ____./1950 vkSj 1990
ds chp dh vof/ ds nkSjku] Ñf"k }kjk
ldy ?kjsyw mRikn ds vuqikr esa egRoiw.kZ
:i ls ;ksxnku ____ fn;k x;kA
(1) doubled/nqxquk
(2) remained constant/fLFkj jgk
(3) increased/c<+k
(4) declined/?kVk

Q.7 What is the product of a
reaction of calcium
carbonate, water and carbon

dioxide?/dSfY'k;e dkckZsusV] ikuh vkSj
dkcZu MkbvkWDlkbM dh çfrfØ;k dk
mRikn D;k gS\
(1) Calcium oxide/dSfY'k;e

vkWDlkbM
(2) Calcium hydroxide/dSfY'k;e

gkbMªkWDlkbM
(3) Hydrochloric acid/

gkbMªksDyksfjd vEy
(4) Calcium hydrogen

carbonate/dSfY'k;e gkbMªkstu
dkckZsusV

Q.8 Fa Xian began his journey
back home from which of the

following Indian state?/iQk
f'k;ku us fuEufyf•r esa ls fdl Hkkjrh;
jkT; ls vius ?kj okil vkus dh ;k=kk
'kq: dh\
(1) Bihar/fcgkj
(2) Maharashtra/egkjk"Vª
(3) Bengal/caxky
(4) Odisha/mM+hlk

Q.9 Gross primary deficit can be

expressed as ______./ldy
çkFkfed ?kkVs dks ____ds :i esa O;ÙkQ
fd;k tk ldrk gSA
(1) Gross fiscal deficit – Net

interest liabilities/ldy
jktdks"kh; ?kkVk & 'kq¼ C;kt ns;rk,¡

(2) Capital expenditure –

Revenue deficit/iwathxr O;;
& jktLo ?kkVk

(3) Gross fiscal deficit + Net

interest liabilities/ldy
jktdks"kh; ?kkVk $ 'kq¼ C;kt ns;rk,¡

(4) Revenue deficit + Capital

expenditure/jktLo ?kkVk $
iwathxr O;;

Q.10 The news print sector in our
country is governed by which

order from the following?/gekjs
ns'k esa lekpkj i=k eqnz.k {ks=k fuEufyf•r
esa ls fdl Øe ls 'kkflr gksrk gS\
(1) National Print Control

Order, 2001/jk"V ª h; eqæ.k
fu;a=k.k vkns'k] 2001

(2) Newsprint Control Order,

2004/lekpkj eqnz.k fu;a=k.k vkns'k]
2004

(3) News Print Commission

Order, 2006/lekpkj eqn z.k
vk;ksx vkns'k] 2006

(4) National Press Control

Order, 2003/jk"Vªh; çsl fu;a=k.k
vkns'k] 2003

Q.11 Which element of group 13 is a
soft metal with a low melting
point (303K) and is widely used
in doping semiconductors and
producing solid-state devices

such as transistors?/lewg 13 dk
dkSu lk rRo ,d de xyukad (303K)

ds lkFk ,d uje /krq gS vkSj O;kid :i
ls Mksfiax v¼Zpkyd vkSj VªkaftLVj tSls
Bksl&jkT; midj.kksa dk mRiknu djus esa
mi;ksx fd;k tkrk gS\
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(1) Aluminium/,Y;qfefu;e
(2) Boron/cksjkWu
(3) Thallium/FkSfy;e
(4) Gallium/xSfy;e

Q.12 What type of isomerism exists
in compounds containing two
or more complexes, each of
which contains a different set
of ligands that can in
principle be replaced with a
ligand of the other complex?/

nks ;k nks ls vf/d ifjljksa okys ;kSfxdksa
esa fdl çdkj dk leko;ork ekStwn gS]
ftuesa ls çR;sd esa fyxsaM dk ,d vyx
lsV gksrk gS ftls fl¼kar :i esa vU;
ifjlj ds fyxsaM ls cnyk tk ldrk gS\
(1) Coordination isomerism/

milgl;kstd leko;ork
(2) Solvate Isomerism/gkbMª sV

foyk;d;kstd leko;ork
(3) Linkage isomerism/fyxs aM

leko;rk
(4) Ionisation isomerism/vk;uu

leko;ork
Q.13 “Radcliffe line” separate India

with which country?/^jsMfDyiQ
js•k* Hkkjr dks fdl ns'k ls vyx djrh
gS\
(1) China/phu
(2) Pakistan/ikfdLrku
(3) Nepal/usiky
(4) Bangladesh/ckaXykns'k

Q.14 Which of the following rocks
is formed by the cooling and

crystallisation of magma?/eSXek
ds BaMk gksus vkSj fØLVyhdj.k ls
fuEufyf•r esa ls dkSu lh pêðku curh gS\
(1) Granite/xzsukbV
(2) Chalk/pkd
(3) Coal/dks;yk
(4) Shell/'kSy

Q.15 In July 2022, who was
appointed as the deputy
election commissioner of

India?/tqykbZ 2022 esa] Hkkjr ds mi
pquko vk;qÙkQ ds :i esa fdls fu;qÙkQ
fd;k x;k Fkk\
(1) R K Gupta/vkj ds xqIrk
(2) Asit Rath/vflr jFk
(3) Suranjan Das/lqjatu nkl
(4) R. Dinesh/vkj- fnus'k

Q.16 Who among the following
person-alities is an exponent
of Kathak dance in India?/

fuEufyf•r O;fÙkQRoksa esa ls dkSu Hkkjr
esa dRFkd u`R; dk çfriknd gS\
(1) Prerna Shrimali/çsj.kk Jhekyh
(2) Usha Uthup/m"kk mRFkqi
(3) Suman Kalyanpur/lqeu

dY;k.kiqj
(4) Monali Thakur/eksukyh Bkdqj

Q.17 Who has been appointed as
the chairperson of the Central
Board of Secondary Education

(CBSE) in May 2022?/ebZ 2022
esa dsaæh; ekè;fed f'k{kk cksMZ (CBSE)

ds vè;{k ds :i esa fdls fu;qÙkQ fd;k
x;k gS\
(1) Nalin Negi/ufyu usxh
(2) Nidhi Chibber/fuf/ fNCcj
(3) Satyendra Prakash/lR;saæ

çdk'k
(4) Ashish Jha/vk'kh"k >k

Q.18 Which of the following
Gharanas does Padma
Bhushan Kishori Amonkar

belong to?/iÁ Hkw"k.k fd'kk sjh
veksudj fuEufyf•r esa ls fdl ?kjkus
ls lacaf/r gSa\
(1) Gwalior/Xokfy;j
(2) Kirana/fdjkuk
(3) Patiala/ifV;kyk
(4) Jaipur-Atrauli/t;iqj&vrjkSyh

Q.19 Who among the following was
the founder of Visva-Bharati

University?/fuEufyf•r esa ls dkSu
fo'oHkkjrh fo'ofo|ky; ds laLFkkid Fks\
(1) Madan Mohan Malaviya/

enu eksgu ekyoh;
(2) Lala Hardayal/ykyk gjn;ky
(3) Swami Vivekananda/Lokeh

foosdkuan
(4) Rabindranath Tagore/

johaæukFk VSxksj
Q.20 Which state government

launched the Mission
Bhumiputra in August

2022?/vxLr 2022 esa fdl jkT;
ljdkj us fe'ku Hkwfeiq=k ykWUp fd;k\
(1) Nagaland/ukxkySaM
(2) Bihar/fcgkj
(3) Sikkim/flfDde
(4) Assam/vle

Q.21 In the _____  ,Sarojini Naidu
persuaded Mahatma Gandhi to
allow women to join the

movement./_____  esa] ljksftuh uk;Mw

us egkRek xka/h dks efgykvksa dks vkanksyu
esa 'kkfey gksus dh vuqefr nsus ds fy,
jkth fd;kA
(1) Quit India Movement/Hkkjr

NksM+ks vkanksyu
(2) Champaran Satyagraha/

paikj.k lR;kxzg
(3) Salt Satyagraha/ued

lR;kxzg
(4) Non-Cooperation Movement

/vlg;ksx vkanksyu
Q.22 The World Para Athletics Grand

Prix 2022 was held in _____./

oYMZ iSjk ,FkysfVDl xzSaM fçDl 2022___ esa
vk;ksftr fd;k x;k FkkA
(1) Sharjah/'kkjtkg
(2) Istanbul/bLrkacqy
(3) Dubai/nqcbZ
(4) Doha/nksgk

Q.23 Rajkumar Singhajit Singh, a
leading exponent and guru of
Indian classical Manipuri
dance form, was awarded
which of the following Indian
civilian honours in 1986?/

Hkkjrh; 'kkL=kh; ef.kiqjh u`R; ds ,d
çeq• çfriknd vkSj xq# jktdqekj
fla?kthr flag dks 1986 esa fuEufyf•r
esa ls fdl Hkkjrh; ukxfjd lEeku ls
lEekfur fd;k x;k Fkk\
(1) Padma Bhushan/iÁ Hkw"k.k
(2) Padma Shri/iÁ Jh
(3) Bharat Ratna/Hkkjr jRu
(4) Padma Vibhushan/iÁ foHkw"k.k

Q.24 Which of the following players
is associated with badminton?

/fuEufyf•r esa ls dkSu lk f•ykM+h
cSMfeaVu ls lacaf/r gS\
(1) K Srikanth/ds Jhdkar
(2) Sankalp Gupta/ladYi xqIrk
(3) Monica Batra/eksfudk c=kk
(4) Archana Kamat/vpZuk dker

Q.25 Subsidiary alliance treaty was
imposed on Awadh in ______./

vo/ ij _____ esa lgk;d xBca/u
laf/ ykxw dh xbZ FkhA
(1) 1802 (2) 1803
(3) 1801 (4) 1804

Q.1 Three of the following letter-
clusters are alike in some
manner and hence form a
group. Which letter-cluster
does not belong to that group?
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/fuEufyf•r esa ls rhu v{kj&lewg fdlh
u fdlh :i esa leku gSa vkSj blfy,
,d lewg cukrs gSaA dkSu lk v{kj&lewg
ml lewg ls lacaf/r ugha gS\
1. LEB 2. JZF
3. TJP 4. MCI

Q.2 A series is given with one term
missing. Select the correct
alternative from the given
ones that will complete the

series./,d vuqØe fn;k x;k gS ftlesa
,d in yqIr gSA fn, x, fodYiksa esa ls
og lgh fodYi pqfu, tks J̀a•yk dks
iwjk djsA
PMRF, PDZV, PUHL, PLPB, ?
1. PCMH 2. PHTD
3. PCXR 4. PQRS

Q.3 Which number will replace
the question mark (?) in the

following series?/fuEufyf•r
Ja•yk esa ç'uokpd fpUg (\) ds LFkku
ij dkSu lh la[;k vk,xh\
10, 15, 25, 45, 85, ?
1. 160 2. 165
3. 170 4. 150

Q.4 Select the correct
combination of mathematical
signs to sequentially replace
the * signs and balance the

given equation./fn, x, lehdj.k
dks larqfyr djus ds fy, * fpUgksa dks
Øfed :i ls cnyus ds fy, xf.krh;
fpÉksa ds lgh la;kstu dk p;u djsaA
11 * 3 * 11 * 2 * 9 = 10
1. ×, ÷, ?, + 2. ÷, ×, ?, +
3. ÷, +, ?, × 4. ×, ÷, +, ?

Q.5 Which two signs and two
numbers should be
interchanged in the following
equation to make it correct?/

fuEufyf•r lehdj.k dks lgh djus ds
fy, fdu nks fpÉksa vkSj nks la[;kvksa dks
vkil esa cnyuk pkfg,\
264 + 24 × 9 ÷ 60 - 4 = 630
1. 264 and 9, ÷ and ?
2. 264 and 9, + and -
3. 4 and 24, ÷ and +
4. 4 and 9, ? and ×

Q.6 Select the option that is
related to the fourth term in
the same way as the first term
is related to the second term
and the fifth term is related to

the sixth term./ml fodYi dk
p;u djsa tks pkSFks in ls mlh rjg lacaf/
r gS tSls igyk in nwljs in ls lacaf/r
gS vkSj ikapoka in NBs in ls lacaf/r gSA

11 : 31 :: ? : 25 :: 14 : 40
1. 8 2. 10
3. 7 4. 9

Q.7 Select the figure that will
replace the question mark (?)
in the following figure series./

ml vkÑfr dk p;u djsa tks fuEufyf•r
vkÑfr J̀a•yk esa ç'u fpÉ (\) dks
çfrLFkkfir djsxhA

?

1. 2.

3. 4.

Q.8 In a certain code language,
'FACES' is written as 'AFCSE'
and 'JEANS' is written as
'EJASN'. How will 'HANGS' be

written in that language?/,d
fuf'pr dwV Hkk"kk esa] 'FACES' dks
'AFCSE' vk S j 'JEANS' dk s
'EJASN' fy•k tkrk gSA ml Hkk"kk esa
'HANGS' dSls fy•k tk,xk\
1. AHSNG 2. AHSGN
3. AHNGS 4. AHNSG

Q.9 If L × M means that L is the
mother of M,
L - M means that L is the
father of M,
L ÷ M means that L is the
sister of M,
then which of the following
expression shows that R is the
brother of P?
;fn L × M dk vFkZ gS fd L] M dh
ekrk gSA
L – M dk vFkZ gS fd L] M dk firk gSA
L÷M dk vFkZ gS fd L] M dh cgu gS]
rks fuEufyf•r esa ls dkSu lk O;atd
n'kkZrk gS fd R] P dk HkkbZ gS\
1. P ÷ R - Q 2. P × R - Q
3. P ÷ Q - R 4. P ÷ R × Q

Q.10 After arranging the given
words according to dictionary
order, which word will come

at 'Fourth' position?/fn, x,
'kCnksa dks 'kCndks'k Øe ds vuqlkj
O;ofLFkr djus ij 'pkSFks' LFkku ij dkSu
lk 'kCn vk,xk\
1. Agenda 2. Agentry
3. Ageism 4. Ageist

5. Agency
1. Ageist 2. Agenda
3. Agentry 4. Agency

Q.11  In a certain code language,
'FANCY' is written as 'ACPEH'
and 'TRACTOR' is written as
'TTCEVQV'. How will
'CARROT' be written in that
language?/,d fuf'pr dksM Hkk"kk
esa] 'FANCY' dks 'ACPEH' fy•k
tkrk g S vk Sj 'TRACTOR' dk s
'TTCEVQV' fy•k tkrk gSA ml Hkk"kk
esa 'CARROT' dSls fy•k tk,xk\
1. ECTTQV 2. ECTTQT
3. EBTTPV 4. VCTTQE

Q.12 Select the option figure in
which the given figure (X) is
embedded as its part (rotation
is not allowed)./ml fodYi vkÑfr
dk p;u djsa ftlesa fn, x, fp=k (X)

dks mlds fgLls ds :i esa ,EcsM fd;k
x;k gS (jksVs'ku dh vuqefr ugha gS)A

(x)

1. 2.

3. 4.

Q.13 Three statements are given,
followed by three conclusions
numbered I, II and III.
Assuming the statements to be
true, even if they seem to be
at variance with commonly
known facts, decide which of
the conclusions logically
follow(s) from the statements./

rhu dFku fn, x, gSa] ftlds ckn rhu
fu"d"kZ I] II vkSj III fn, x, gSaA dFkuksa
dks lR; ekurs gq,] Hkys gh os lkekU;
:i ls Kkr rF;ksa ls fHkUu çrhr gksrs gksa]
fu.kZ; djsa fd dkSu lk fu"d"kZ rkfdZd
:i ls dFkuksa dk vuqlj.k djrk gSA
Statements:/dFku
I. All reds are pinks./lHkh yky

xqykch gSaA
II. All whites are pinks./lHkh

liQsn xqykch gSaA
III. All pinks are oranges./lHkh

xqykch larjs gSaA
Conclusions:/fu"d"kZ
I. All whites are oranges./lHkh

liQsn larjs gSaA
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II. All oranges are reds./lHkh
larjs yky gSaA

III. Some oranges are whites./
dqN larjs liQsn gSaA

1. Only conclusions I and III
follow./dsoy fu"d"kZ I vkSj III
vuqlj.k djrs gSaA

2. Only conclusions I and II
follow./dsoy fu"d"kZ I vkSj II
vuqlj.k djrs gSaA

3. All conclusions follow./lHkh
fu"d"kZ vuqlj.k djrs gSaA

4. Only conclusions II and III
follow./dsoy fu"d"kZ II vkSj III
vuqlj.k djrs gSaA

Q.14 Select the odd group of
numbers. /la[;kvksa ds fo"ke lewg
dk p;u djsaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g.13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)/(uksV% la[;kvksa dks muds ?kVd
vadksa esa foHkkftr fd, fcuk] iw.kZ la[;kvksa
ij lafØ;k,¡ dh tkuh pkfg,A mnkgj.k 13
& 13 ij lafØ;k,¡ tSls 13 es a
tksM+uk@?kVkuk@xq.kk djuk vkfn fu"ikfnr dh
tk ldrh gSaA 13 dks 1 vkSj 3 esa foHkkftr
djuk vkSj fiQj 1 vkSj 3 ij xf.krh;
lafØ;k,¡ djus dh vuqefr ugha gS)
1. 14 - 208 2. 18 - 334
3. 12 -154 4. 16 - 266

Q.15 A & B means 'A is the wife of B'
A # B means 'A is the father
of B'
A @ B means 'A is the son of B'
A % B means 'A is the
husband of B'
A + B means 'A is the mother
of B'
If A & B # C & D @ E % F + G,
then how is A related to D?
A & B dk vFkZ gS 'A] B dh iRuh gSA'
A # B dk vFkZ gS 'A] B dk firk gSA'
A @ B dk vFkZ gS 'A, B dk iq=k gSkA'
A % B dk vFkZ gS 'A] B dk ifr gSA'
A + B dk vFkZ gS 'A] B dh ekrk gSA'
1. Daughter-in-law/cgq
2. Mother-in-law/lkl

3. Mother/ekrk
4. Sister/cgu

Q.16 Select the option that is
related to the third word in
the same way as the second
word is related to the first
word. (The words must be
considered as meaningful
English words and must not
be related to each other based
on the number of letters /
number of consonants /
vowels in the word.)/ml fodYi
dk p;u djsa tks rhljs 'kCn ls mlh
rjg lacaf/r gS tSls nwljk 'kCn igys
'kCn ls lacaf/r gSA ('kCnksa dks lkFkZd
vaxzsth 'kCn ekuk tkuk pkfg, vkSj 'kCn
esa v{kjksa dh la[;k @ O;atuksa @ Lojksa dh
la[;k ds vk/kj ij ,d nwljs ls lacaf/
r ugha gksuk pkfg,A)
Lethargy : Alertness :: Gentle
: ?
1. Destroy 2. Kind
3. Annoying 4. Harsh

Q.17 Select the set in which the
numbers are related in the
same way as are the numbers
of the following set./ml lsV dk
p;u djsa ftlesa la[;k,¡ mlh rjg ls
lacaf/r gSa tSls fuEufyf•r lsV dh
la[;k,¡ gSaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g., 13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is NOT
allowed)./(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lapkyu fd;k tkuk pkfg,A
mnkgj.k ds fy,] 13 & 13 ij lapkyu tSls
13 dks tksM+uk @ ?kVkuk @ xq.kk djuk vkfn
fd;k tk ldrk gSA 13 dks 1 esa rksM+uk vkSj
3 vkSj fiQj 1 vkSj 3 ij xf.krh; lafØ;k,¡
djus dh vuqefr ugha gS)A
(24, 9, 21)
(34, 16, 33)
1. (34, 8, 28) 2. (53, 6, 34)
3. (43, 17, 41)4. (42, 9, 30)

Q.18 Select the option figure in
which the given figure (X) is
embedded as its part (rotaion
is not allowed)./ml fodYi vkÑfr

dk p;u djsa ftlesa fn, x, vkadM+s (X)

dks mlds fgLls ds :i esa ,EcsM fd;k
x;k gS (jksVs'ku dh vuqefr ugha gS)A

(x)

1. 2.

3. 4.
Q.19 In the following question below

are given some statements
followed by some conclusions
based on those statements.
Taking the given statements to
be true even if they seem to
be at variance from commonly
known facts. Read all the
conclusions and then decide
which of the given conclusion
logically follows the given

statements./uhps fn, x, ç'u esa
dqN dFku fn, x, gSa vkSj mu dFkuksa ds
vk/kj ij dqN fu"d"kZ fn, x, gSaA fn,
x, dFkuksa dks lR; ekuuk ??Hkys gh os
loZKkr rF;ksa ls fHkUu çrhr gksrs gksaA lHkh
fu"d"kks± dks i<+sa vkSj fiQj r; djsa fd
fn, x, fu"d"kks± esa ls dkSu lk fu"d"kZ
rkfdZd :i ls fn, x, dFkuksa dk vuqlj.k
djrk gSA
Statements:/dFku
I. All R are M./lHkh R, M gSA
II. All L are M./lHkh L, M gSA
Conclusions:/fu"d"kZ
I. Some M are not R./dqN M,

R gSA
II. Some L are R./dqN L, R gSA
III. Some M are L./dqN M, L gSA
1. Both conclusions II and III

follows./nksuksa fu"d"kZ II vkSj III
vuqlj.k djrs gSaA

2. Only conclusion III

follows./dsoy fu"d"k Z III

vuqlj.k djrk gSA
3. Both conclusions I and III

follows./fu"d"kZ I vkSj III nksuksa
vuqlj.k djrs gSaA

4. Neither conclusion

follows./dksbZ Hkh fu"d"kZ vuqlj.k
ugha djrk gS
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Q.20 Select the option that is
related to the third number in
the same way as the second
number is related to the first
number and the sixth number
is related to the fifth number./

ml fodYi dk p;u djsa tks rhljh
la[;k ls mlh rjg lacaf/r gS tSls nwljh
la[;k igyh la[;k ls lacaf/r gS vkSj
NBh la[;k ikapoha la[;k ls lacaf/r gSA
76 : 11 :: 88 : ? :: 68 : 9
1. 12 2. 14
3. 18 4. 15

Q.21 Three different positions of the
same dice are shown. Find the
number on the face opposite

the face showing '4'./,d gh ikls
dh rhu vyx&vyx fLFkfr;ka fn•kbZ
xbZ gSaA '4' n'kkZus okys iQyd ds foijhr
iQyd ij la[;k Kkr dhft,A

Fig(1) Fig(2) Fig(3)

6 3 4

5 1 53 2 6

1. 1 2. 3
3. 6 4. 2

Q.22 By interchanging the given
two signs and numbers which
of the following equation will

be not correct?/fn, x, nks fpUgksa
vkSj la[;kvksa dks vkil esa cnyus ij
fuEufyf•r esa ls dkSu lk lehdj.k
lgh ugha gksxk\
- and ÷, 8 and 2
I. 5 + 7 - 8 × 4 ÷ 2 = 9
II. 3 + 8 × 4 - 2 ÷ 1 = 3

1. Neither I nor II/u rks I vkSj u
gh II

2. Only II/dsoy II
3. Both I and II/I vkSj II nksuksa
4. Only I/dsoy I

Q.23 Select the figure from among
the given options that can
replace the question mark (?)

in the following series./fn, x,
fodYiksa esa ls ml vkÑfr dk p;u djsa
tks fuEufyf•r J̀a•yk esa ç'u fpÉ
(\) dks çfrLFkkfir dj ldrh gSA

1. 2.

3. 4.

Q.24 Which letter cluster will
replace the question mark (?)
to complete the given series?/
nh xbZ J̀a•yk dks iwjk djus ds fy,
dkSu lk v{kj lewg ç'uokpd fpÉ
(\) ds LFkku ij vk,xk\
CLPM, FNQN, ?, LRSP, OTTQ
1. IPRO 2. JPRO
3. IPSO 4. IQRO

Q.25 Select the option that is related
to the third word in the same
way as the second word is
related to the first word. (The
words must be considered as
meaningful English words and
must not be related to each
other based on the number of
letters/number of consonants/
vowels in the word)/ml fodYi
dk p;u djsa tks rhljs 'kCn ls mlh
rjg lacaf/r gS tSls nwljk 'kCn igys
'kCn ls lacaf/r gSA ('kCnksa dks lkFkZd
vaxzsth 'kCn ekuk tkuk pkfg, vkSj 'kCn
esa v{kjksa dh la[;k@O;atuksa@Lojksa dh la[;k
ds vk/kj ij ,d nwljs ls lacaf/r ugha
gksuk pkfg,)
Lake : Land :: Island : ?
1. Plains 2. Water
3. Hills 4. Dessert

Q.1 Select the INCORRECTLY
spelt word in the following
sentence.
The outcome of the survey
was a critical intervention to
the questionaire prepared by
Suraj and his committee.
(1) questionaire
(2) committee
(3) intervention
(4) outcome

Q.2 Select the correct active
form of the given sentence.
A terrible disaster was
witnessed by our country.
(1) Our country had witnessed

a terrible disaster.
(2) Our country is witnessing

a terrible disaster.
(3) Our country witnessed a

terrible disaster.
(4) Our country witnesses a

terrible disaster.
Q.3 Select the option that can be

used as a one-word substitute

for the given group of words/
phrase.
Fail to notice; ignore; condone
(an offence etc.)
(1) Overlong (2) Overlie
(3) Overly (4) Overlook

Q.4 The following sentence has
been divided into parts. One
of them may contain an error.
Select the part that contains
the error from the given
options. If you don’t find any
error, mark ‘No error’ as your
answer.
He knows that / he has no other
option / but to work hard.
(1) He knows that
(2) but to work hard
(3) he has no other option
(4) No error

Q.5 Select the most appropriate
meaning of the given idiom.
Cudgel one’s brain
(1) Thinking about a debate
(2) To think hard
(3) Not to think
(4) To overthink

Q.6 Select the most appropriate
option that can substitute
the underlined segment in
the given sentence. If there
is no need to substitute it,
select ‘No substitution’.
When I was your age, I was
working two jobs to provide
for my family.
(1) to providing for
(2) for provide to
(3) on providing
(4) No substitution

Q.7 Select the sentences that
contains no spelling errors.
(1) The hippoputamus, also

known as ‘river horse’,
lives throughout sub
Saharan Africa.

(2) The hipopotamus, also
known as ‘river horse’,
lives throughout sub
Saharan Africa.

(3) The hippopotmaus, also
known as ‘river horse’,
lives throughout sub
Saharan Africa.

(4) The hippopotamus, also
known as ‘river horse’,
lives throughout sub
Saharan Africa.

Q.8 Select the most appropriate
ANTONYM of the given word.
Bulk
(1) Handful (2) Heavy
(3) Staple (4) Brunt
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Q.9 Select the most appropriate
option to fill in the blank.
She frankly confessed that
she couldn’t _____ to
purchase a car then.
(1) spend (2) afford
(3) stand (4) tolerate

Q.10 Select the most appropriate
ANTONYM of the underlined
word.
The natural environment is in
contrast with the ‘built
environment’ which refers to
areas that have been
fundamentally transformed
and influenced by human
activity, such as cities, towns,
substructures and so on.
(1) Hackneyed (2) Inimical
(3) Bipartisan (4) Interested

Q.11 Select the correct indirect
form of the given sentence.
The blind man said to me, “Can
you help me cross the road?”
(1) The blind man asked me

if I could help him cross
the road.

(2) The blind man asked me
if I will help him cross the
road.

(3) The blind man asked me
if I could help him crossed
the road.

(4) The blind man asked me
if I can help him cross the
road.

Q.12 Select the most appropriate
option to fill in the blank.
One has to be persistent in
studies if he/she wants to get
his/her dream job. Success
will remain unattainable if
one studies________.
(1) root and branch
(2) the three R’s
(3) in ups and downs
(4) by fits and starts

Q.13 Select the option that can
be used as a one-word
substitute for the given
group of words.
A room where dead bodies are
kept until burial
(1) Sanatorium
(2) Museum
(3) Mortuary
(4) Safari

Q.14 Select the option that
expresses the given
sentence in active voice.
The important points were
narrated in the class by the
teacher.

(1) The teacher was narrating
important points in the
class.

(2) The teacher had narrated
the important points in
the class.

(3) The teacher narrated the
important points in the
class.

(4) In the class, the important
points were narrated.

Q.15 Select the most appropriate
option to fill in the blank.
She became frustrated with
her poor health and began to
lose ________ of her recovery.
(1) weight (2) idea
(3) money (4) hope

Q.16 The following sentence has
been split into four
segments. Identify the
segment that contains a
grammatical error.
She has / a habit of /
spending against / her
means.
(1) her means
(2) She has
(3) spending against
(4) a habit of

Q.17 Select the option that can
be used as a one-word
substitute for the given
group of words.
The action of damaging the
good reputation of someone
(1) Delegate
(2) Degeneration
(3) Defamation
(4) Defection

Q.18 Rearrange the parts of the
sentence in correct order.
In December 2018
P. caused a landslide that
Q. an eruption of the volcano

Anak Krakatau
R. triggered a tsunami in the

Sunda Strait (Indonesia)
S. and killed more than 400

people
(1) SQPR (2) RPQS
(3) QPRS (4) PRQS

Q.19 Select the most appropriate
ANTONYM of the given word.
Loyal
(1) Ardent (2) Fickle
(3) Stupid (4) Tragic

Q.20 Select the most appropriate
ANTONYM of the underlined
word.
The dacoits ravaged the
bungalow in the absence of its
owner.

(1) Exploded
(2) Demolished
(3) Restored
(4) Sealed

Comprehension: In the given
passage, some words have been left
out. Read the passage carefully and
select the most appropriate option
to fill in each blank.
During the pandemic, remote
working has kept the work going
on across _____ (1) Almost every
industry got shut down physically
during the lockdowns but the work
from home model tried to ______ (2)
the effect of the lockdown when it
came to jobs. In the future also,
many businesses across the globe,
including the information
technology industry, are _______ (3)
continuing with the hybrid model.
Remote working has replaced
geography as a major hiring
________ (4), with 90 per cent of
senior executives expected to work
from home. As a result, 76 per cent
of US organisations are more likely
to _______ (5) out side the city or
even state, according to a Talent
Works poll of recruiting managers
conducted across the US, quoted
by an FE report.
Q.21 Select the most appropriate

option to fill in blank
number 1.
(1) Sectors (2) Fields
(3) Sections (4) Areas

Q.22 Select the most appropriate
option to fill in blank
number 2.
(1) Substitute
(2) Reduce
(3) Replenish
(4) Substantiate

Q.23 Select the most appropriate
option to fill in blank
number 3.
(1) Analysing
(2) Examining
(3) Considering (4)
Observing

Q.24 Select the most appropriate
option to fill in blank
number 4.
(1) Formula (2) Standard
(3) Criteria (4) Criterion

Q.25 Select the most appropriate
option to fill in blank
number 5.
(1) Implement (2) Deploy
(3) Execute (4) Employ


